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o EFEMEEE: 10Torr(-750mmHg)
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L{mm})L11({mm)
25.7 13.3
34.7 21
38.4 25.2
43.7 29.2
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HE

(inch)

EYB1/8-C1E0¥F 1/8
EYB1/4-C1E0WF 1/4
EYB3/8-C1ED%F 3/8
EYB1/2-C1ED%F 1/2

L{imm)L1i{mm)
20 16.7
40.3 25.2
20.6 35.5
60.4 42.5

i 2/ EWE =
2 2= P3(mM)P4(mm)W(mm)D(mm)d2(mm) P& HiE =
2
mm
11 10.9 7 7] 6.3 2 2 2 -
14 13.9 11 8.7 10 3.2 3 3 4
15 15.2 12.2 12.5 13 4.2 5 8 6
16, 16.8 14.2 14.5| 15 42 7 18 9
19) 18.7 17.5| 17.5| 18 4.2 9 2717
200 20.7 20 20/ 20.5 4.2 11 38.524
Fﬁ;;ﬁ 2 EWE =
& = P3(mm)P4(mm)W(mm)D(mm)d2(mm) PIE miE =
(mm) (mm)(mm?)(g)
11 11.5 g 8 7.7 3.2 3 - -
16/ 16.20 12.2| 12.5| 12 4.2 5 10.5/10
200 19.5 17.5| 17.5| 18 4.2 o 2424
23] 22.7 21 21 21.5 4.2 11 46.5 33



